2019/7/29

Android s £z Bz 1) 2 84 8 7) 8

85y - H20@ - #5100 o0

6. BIER

bindServiceld HEFIRIEFEEZRSE, T () HESRAFEA (E—I) ?

https://class.imooc.com/exam/167/getuserexam?t=1

Android 2 2% 7 FH MR- 5 15 R AL E

FHER: A (FHEER:
SE R
onServiceConnected(ComponentName,|Binder) 1E & &0 #1EF, onServiceDisconnected(ComponentName)&EiZL N

BRI AR .

A onServiceConnected(ComponentName,|Binder)

B onServiceConnected(ComponentName)

C onServiceDisconnected(ComponentName,|Binder)

D onServiceDisconnected(ComponentName)

12 13 14 15 16 17 18 19
Bfrxoz0  m@  mw s 07 3
IR .
6 BERT #7728 OFBNERE—T  uuEm IR <

1/1


https://class.imooc.com/sc/61/learn
javascript:void(0);

